
Who wants to 
be the       

millionaire?



The first 
round



1 question  500  rubles
Which  day  of  the  week  

doesn’t  exist?
a. Saturday

b. Wednesday

c. Friday

d. Holiday



1 question  500  rubles
Which  day  of  the  week  

doesn’t  exist?
a. Saturday

b. Wednesday

c. Friday

d. Holiday



2 question  1000  rubles
What  is  Halloween?

a. Holiday of the labour class

b. Holiday of people in love

c. Holiday of the witches and ghosts

d. Carlson’s birthday



2 question  1000  rubles
What  is  Halloween?

a. Holiday of the labour class

b. Holiday of people in love

c. Holiday of the witches and ghosts

d. Carlson’s birthday



3 question  2000  rubles
Possessive  case  of  which  

part  of  the  speech  exists in 
English?

a. Of a verb

b. Of an adjective

c. Of a preposition

d. Of a noun



3 question  2000  rubles
Possessive  case  of  which  

part  of  the  speech  exists in 
English?

a. Of a verb

b. Of an adjective

c. Of a preposition

d. Of a noun



4 question  4000  rubles
When  do  they  celebrate  
Christmas  in  England? 

a. December, 25

b. January, 1

c. March, 8

d. April, 1



4 question  4000  rubles
When  do  they  celebrate  
Christmas  in  England? 

a. December, 25

b. January, 1

c. March, 8

d. April, 1



5 question  5000  rubles
Which  city  is  the  capital  of  

the  Great  Britain?
a. Belfast

b. Washington

c. London

d. Paris



5 question  5000  rubles
Which  city  is  the  capital  of  

the  Great  Britain?
a. Belfast

b. Washington

c. London

d. Paris



6 question  10000  rubles
Who lives in Britain  besides  

the  Englishmen?
a. The French, the Chinese, the Spanish

b. The Russian, the Ukraines, the Belarusians

c. Nobody but the English

d. The Scots, the Irish, the Welsh



6 question  10000  rubles
Who lives in Britain  besides  

the  Englishmen?
a. The French, the Chinese, the Spanish

b. The Russian, the Ukraines, the Belarusians

c. Nobody but the English

d. The Scots, the Irish, the Welsh



7 question  15000  rubles
Who wrote  “Romeo and 

Juliet”?
a. Mozart

b. Shakespeare

c. Lermontov

d. Huckleberry Finn



7 question  15000  rubles
Who wrote  “Romeo and 

Juliet”?
a. Mozart

b. Shakespeare

c. Lermontov

d. Huckleberry Finn



8 question  25000  rubles
Who  rules  in  Britain  

nowadays?
a. Elizabeth II

b. Ludwig II

c. Prince William

d. Prince Charles



8 question  25000  rubles
Who  rules  in  Britain  

nowadays?
a. Elizabeth II

b. Ludwig II

c. Prince William

d. Prince Charles



9 question  50000  rubles
How  many  verb  tenses  are  

there  in  the  English  
language?

a. 6

b. 9

c. 12

d. 16



9 question  50000  rubles
How  many  verb  tenses  are  

there  in  the  English  
language?

a. 6

b. 9

c. 12

d. 16



10 question  100000  rubles
Which  of  these  sightseeings  

is  not  in  Great  Britain?
a. Westminster Abby

b. The Tower

c. Notre Dame de Paris

d. Trafalgar Square



10 question  100000  rubles
Which  of  these  sightseeings  

is  not  in  Great  Britain?
a. Westminster Abby

b. The Tower

c. Notre Dame de Paris

d. Trafalgar Square



The 
second 
round



1 question  500  rubles
What  can’t  children  do?

a. Run

b. Go

c. Speak

d. Fly



1 question  500  rubles
What  can’t  children  do?

a. Run

b. Go

c. Speak

d. Fly



2 question  1000  rubles
What  endings  do  we  use  to  
make  the  plural  form  of  the  
nouns  in  English  language?

a. -s

b. -z

c. -ing

d. -ty



2 question  1000  rubles
What  endings  do  we  use  to  
make  the  plural  form  of  the  
nouns  in  English  language?

a. -s

b. -z

c. -ing

d. -ty



3 question  2000  rubles
Which  of  the  rooms  doesn’t  

exist  in  a  flat?
a. Bedroom

b. Bathroom

c. Living room

d. Classroom



3 question  2000  rubles
Which  of  the  rooms  doesn’t  

exist  in  a  flat?
a. Bedroom

b. Bathroom

c. Living room

d. Classroom



4 question  4000  rubles
What  is  the  difference  

between  the  men  in  
Scotland  and the  men  from  

other  countries?
a. They wear skirts

b. They have long hair

c. They wear moustache

d. They carry water on the yoke



4 question  4000  rubles
What  is  the  difference  

between  the  men  in  
Scotland  and the  men  from  

other  countries?
a. They wear skirts

b. They have long hair

c. They wear moustache

d. They carry water on the yoke



5 question  5000  rubles
Do  the  British  say  “Fine, 

thank  you”,  when  they  are  
asked  “How  are  you ”?

a. Always

b. Sometimes

c. Never

d. They say it only when they are tortured



5 question  5000  rubles
Do  the  British  say  “Fine, 

thank  you”,  when  they  are  
asked  “How  are  you ”?

a. Always

b. Sometimes

c. Never

d. They say it only when they are tortured



6 question  10000  rubles
Byron  is ……?

a. Model of a computer

b. Poet

c. Producer

d. Singer



6 question  10000  rubles
Byron  is ……?

a. Model of a computer

b. Poet

c. Producer

d. Singer



7 question  15000  rubles
Who  wrote  “Alice  in  

Wonderland”?
a. J. K. Jerome

b. Jack London

c. Louise Carroll

d. Sydney Sheldon



7 question  15000  rubles
Who  wrote  “Alice  in  

Wonderland”?
a. J. K. Jerome

b. Jack London

c. Louise Carroll

d. Sydney Sheldon



8 question  25000  rubles
What  is  the  Queen  Elizabeth  

II  husband’s  name?
a. Henry

b. Philip

c. Jackson

d. Edward



8 question  25000  rubles
What  is  the  Queen  Elizabeth  

II  husband’s  name?
a. Henry

b. Philip

c. Jackson

d. Edward



9 question  50000  rubles
Where  is  Sydney  situated?

a. In  England

b. In  America

c. In  Scotland

d. In  Australia



9 question  50000  rubles
Where  is  Sydney  situated?

a. In  England

b. In  America

c. In  Scotland

d. In  Australia



10 question  100000  rubles
At  what  time  do  the  

Englishmen  usually  have  
their  traditional  “tea”?

a. At 2 o’clock

b. At 5 o’clock

c. At 8 o’clock

d. At 10 o’clock



10 question  100000  rubles
At  what  time  do  the  

Englishmen  usually  have  
their  traditional  “tea”?

a. At 2 o’clock

b. At 5 o’clock

c. At 8 o’clock

d. At 10 o’clock



The third 
round



1 question  500  rubles
Which  fruit  grow  in  the  

apple  tree?
a. Plums

b. Melons

c. Cherries

d. Apples



1 question  500  rubles
Which  fruit  grow  in  the  

apple  tree?
a. Plums

b. Melons

c. Cherries

d. Apples



2 question  1000  rubles
How  many  synonyms  of  the  

word  “a  lot  of”  do  you  
know?

a. 2

b. 1

c. 3

d. 4



2 question  1000  rubles
How  many  synonyms  of  the  

word  “a  lot  of”  do  you  
know?

a. 2

b. 1

c. 3

d. 4



3 question  2000  rubles
What  holiday  do  we  

celebrate  on  the  14  of  
February?

a. Day of people in love

b. Day of patriotism

c. Day of liberty

d. Mother’s day



3 question  2000  rubles
What  holiday  do  we  

celebrate  on  the  14  of  
February?

a. Day of people in love

b. Day of patriotism

c. Day of liberty

d. Mother’s day



4 question  4000  rubles
Which  of  these  words  is  an 

adjective?
a. Beautiful

b. Reading

c. Plane

d. Give



4 question  4000  rubles
Which  of  these  words  is  an 

adjective?
a. Beautiful

b. Reading

c. Plane

d. Give



5 question  5000  rubles
Tom  Soyer  is….?

a. Name of a car

b. Name of a book character

c. Writer

d. Name of a dish



5 question  5000  rubles
Tom  Soyer  is….?

a. Name of a car

b. Name of a book character

c. Writer

d. Name of a dish



6 question  10000  rubles
How  do  people  make  the  
acquaintance  with  each  

other  in  Britain?
a. Firstly they say their address, then the 
telephone number

b. Firstly they say their name, then the surname

c. Firstly they speak about their work

d. Firstly they say their surname, then the name



6 question  10000  rubles
How  do  people  make  the  
acquaintance  with  each  

other  in  Britain?
a. Firstly they say their address, then the 
telephone number

b. Firstly they say their name, then the surname

c. Firstly they speak about their work

d. Firstly they say their surname, then the name



7 question  15000  rubles
Who  was  the  first  American  

President?
a. Abraham Lincoln

b. George Bush

c. Bill Clinton

d. George Washington



7 question  15000  rubles
Who  was  the  first  American  

President?
a. Abraham Lincoln

b. George Bush

c. Bill Clinton

d. George Washington



8 question  25000  rubles
What  place  is  an  official  
residence  of  the  Queen?

a. Westminster Abby

b. The Tower

c. Buckingham Palace

d. The British Museum



8 question  25000  rubles
What  place  is  an  official  
residence  of  the  Queen?

a. Westminster Abby

b. The Tower

c. Buckingham Palace

d. The British Museum



9 question  50000  rubles
Where  does  the  English  
Channel  stretch  to  and 

from?
a. From the Atlantic Sea to the North Sea

b. From the Atlantic Sea to the Caspian Sea

c. From the Indian Ocean to the Black Sea

d. From the Indian Ocean to the Red Sea



9 question  50000  rubles
Where  does  the  English  
Channel  stretch  to  and 

from?
a. From the Atlantic Sea to the North Sea

b. From the Atlantic Sea to the Caspian Sea

c. From the Indian Ocean to the Black Sea

d. From the Indian Ocean to the Red Sea



10 question  100000  rubles
What  does  the  abbreviation  
Mc  mean  when  it  is  before  

the  name? (example:  
McDonald)?

a. My

b. Mother

c. The son of

d. God



10 question  100000  rubles
What  does  the  abbreviation  
Mc  mean  when  it  is  before  

the  name? (example:  
McDonald)?

a. My

b. Mother

c. The son of

d. God



The super 
Final



1 question  200000  rubles
What  river  is  the  most  

important  and  the  deepest  
in  Britain?

a. The Volga

b. The Thames

c. The Seine

d. The Mississippi



1 question  200000  rubles
What  river  is  the  most  

important  and  the  deepest  
in  Britain?

a. The Volga

b. The Thames

c. The Seine

d. The Mississippi



2 question  300000  rubles
How  many  houses  of  

Parliament  in  Britain  do  you  
know?

a. 3

b. 2

c. 4

d. 1



2 question  300000  rubles
How  many  houses  of  

Parliament  in  Britain  do  you  
know?

a. 3

b. 2

c. 4

d. 1



3 question  500000  rubles
Which  of  these  emblems  is  

not  a  symbol  of  Britain?
a. The Tulip

b. The Thistle

c. The Leek

d. The Shamrock



3 question  500000  rubles
Which  of  these  emblems  is  

not  a  symbol  of  Britain?
a. The Tulip

b. The Thistle

c. The Leek

d. The Shamrock



4 question  750000  rubles
What  is  the  “pub”?

a. Elite restaurant

b. Place for drinking beer

c. Place where the Parliament is situated

d. Market



4 question  750000  rubles
What  is  the  “pub”?

a. Elite restaurant

b. Place for drinking beer

c. Place where the Parliament is situated

d. Market



5 question  1000000  rubles
What  do the  Englishmen  

traditionally  cook  for   
Christmas?

a. Duck with apples

b. Meat “A la French”

c. Roasted turkey

d. Grilled chicken



5 question  1000000  rubles
What  do the  Englishmen  

traditionally  cook  for   
Christmas?

a. Duck with apples

b. Meat “A la French”

c. Roasted turkey

d. Grilled chicken




